# EFFECT OF TRANSVER SE SHEAR AND ROTATORY INERTIA ON THE FORCED MOTION OF A STEPPED RECTANGULAR BEAM 

A. P. Gupta and N. Sharma<br>Department of Mathematics, University of Roorkee, Roorkee 247 667, India

(Received 13 August 1996, and in final form 29 August 1997)


#### Abstract

Forced motion of a rectangular beam whose thickness, density and elastic properties along the length vary in any number of steps is analyzed by the eigenfunction method using shear theory. A beam of two steps, clamped at both the edges and subjected to constant or half-sine pulse load is considered as an example problem. Numerical results computed for transverse defection are compared with those of classical theory (C) 1997 Academic Press Limited


## 1. INTRODUCTION

The free vibration of stepped beams has been analyzed by many researchers [1-13]. Filipich et al. [14] have considered the transverse vibration of a stepped beam subjected to an axial force and embedded in a non-homogeneous Winkler foundation. Bepat and Bhutani [15] have analyzed the free and forced vibration of stepped systems governed by a one dimension wave equation with non-classical boundary conditions. The authors are not aware of any paper on forced motion of beams of stepped thickness except that of the present authors [16].
In the present paper, the effect of transverse shear and rotatory inertia on the forced motion of a rectangular beam whose thickness, density and elastic properties along the length vary in any number of steps, is analyzed. The beam is assumed to be made up of $n$ beam elements joined edge to edge and having in general different constant thickness, densities and elastic properties. Their free vibrations are considered using shear theory. The forced motion is analyzed by the eigenfunction method [17]. A beam made up of three beam elements, clamped at both edges and subjected to constant or half pulse load is considered as an example problem. The variations in lengths, thicknesses and densities of the elements are taken in such a way that the total length, average thickness and average density of the beam remain constant. Numerical results computed for the transverse deflection for various parameters of the beam are compared with those of classical theory.

## 2. EQUATION OF MOTION

An isotropic beam of breadth $b$ and length $a$ whose thickness, density and elastic properties along the length vary in steps is considered. The beam is defined by Cartesian co-ordinates by setting the $x$-axis along the length, the $y$-axis along the breadth, the middle plane of the beam in the plane $z=0$ and the two edges in the planes $x=0$ and $x=a$. The beam is assumed to be made up of $n$ beam elements joined edge to edge with their middle planes lying in plane $z=0$. The breadth, length, thickness, density, Young's
modulus and Poisson's ratio of the $k$ th element $(k=1,2, \ldots, n)$ are taken as $b, a_{k}, h_{k}$, $\rho_{k}, E_{k}$ and $v_{k}$ respectively and it lies from $x=x_{k-1}$ to $x=x_{k}$ where $x_{k}-x_{k-1}=a_{k}, x_{0}=0$ and $x_{n}=a$. Some of the thickness profiles of the beam along the length are shown in Figure 1.

The equations of motion of the beam elements according to shear theory are taken as

$$
\begin{gather*}
{\left[E_{k} h_{k}^{3} / 12\left(1-v_{k}^{2}\right)\right] \psi_{k}, x_{x}-\left[K_{s} E_{k} h_{k} / 2\left(1+v_{k}\right)\right]\left(\psi_{k}+w_{k}, x\right)-\rho_{k} h_{k}^{3} \psi_{k}, t=0} \\
K_{s} E_{k} h_{k} / 2\left(1+v_{k}\right)\left(\psi_{k},{ }_{x}+w_{k}, x x\right)-\rho_{k} h_{k} w_{k}, t t p_{k}(x, t)=0 \\
x_{k-1} \leqslant x \leqslant x_{k}, \quad k=1,2, \ldots, n \tag{1}
\end{gather*}
$$

where $w_{k}, \psi_{k}, p_{k}, t$ and $K_{s}$ are the transverse deflections, rotations of the normal to the middle plane of the beam, loads per unit length, time and shear constant, respectively. A comma followed by a variable suffix denotes differentiation with respect to that variable.

Making the equations (1) non-dimensional,

$$
\begin{gather*}
I_{k} \psi_{k},,_{X X}-L_{k}\left(\psi_{k}+W_{k}, X\right)-\left(\gamma_{k} H_{k}^{3} / 12\right) \psi_{k}, T T=0, \\
L_{k}\left(\psi_{k}, X+W_{k}, X X\right)+\gamma_{k} H_{k} W_{k}, T T+P_{k}(X, T)=0, \quad X_{k-1} \leqslant X \leqslant X_{k} \tag{2}
\end{gather*}
$$

where

$$
\begin{gathered}
X=x / a, \quad X_{k}=x_{k} / a, \quad H_{k}=h_{k} / a, \quad \gamma_{k}=\rho_{k} / \rho_{a}, \quad \varepsilon_{k}=E_{k} / E, \quad P_{k}=p_{k} / E \\
T=t \sqrt{E /\left(\rho_{a} a^{2}\right)}, \quad I_{k}=\varepsilon_{k} H_{k}^{3} / 12\left(1-v_{k}^{2}\right), \quad L_{k}=K_{s} \varepsilon_{k} H_{k} / 2\left(1+v_{k}\right), \quad X_{0}=0 \\
X_{n}=1 .
\end{gathered}
$$

$\rho_{a}$ is the average density of the beam and $E$ is the Young's modulus of some standard material.

## 3. FREE VIBRATION ANALYSIS

### 3.1. SOLUTION

For free vibration one takes

$$
\begin{equation*}
W_{k}(X, T)=W_{k j}(X) \mathrm{e}^{\mathrm{i} \Omega_{j} T}, \quad \psi_{k}(X, T)=\psi_{k j}(X) \mathrm{e}^{\mathrm{i} \Omega_{j} T} \tag{3}
\end{equation*}
$$



Figure 1. Thickness profiles of the beam.
and by substituting in equations (2) after putting $P_{k}=0$ one gets,

$$
\begin{gather*}
I_{k} \psi_{k j}, X x-L_{k}\left(\psi_{k j}+W_{k j, x}\right)-\left(\gamma_{k} H_{k}^{3} / 12\right) \Omega_{j}^{2} \psi_{k j}=0, \\
L_{k}\left(\psi_{j k}, x+W_{k j}, x x\right)+\gamma_{k} H_{k} W_{k j} \Omega_{j}^{2}=0, \tag{4}
\end{gather*}
$$

where $W_{k j}, \psi_{k j}$ are the mode shape functions and $\Omega_{j}$ is the circular frequency for the $j$ th normal mode of free vibration.
For the sake of convenience, by suppressing the subscript $j$ in the free vibration analysis and putting $\left(W_{k}, \psi_{k}\right)=\left(\bar{W}_{k}, \bar{\psi}_{k}\right) \mathrm{e}^{\mathrm{e}_{k} x}$ in equations (4) and then eliminating $\bar{W}_{k}$ and $\bar{\psi}_{k}$ from them, one gets

$$
\begin{equation*}
12 L_{k} I_{k} \lambda_{k}^{4}+\gamma_{k} H_{k}\left(L_{k} H_{k}^{2}+12 I_{k}\right) \Omega^{2} \lambda_{k}^{2}+\gamma_{k} H_{k}\left(\gamma_{k} H_{k}^{3} \Omega^{2}-12 L_{k}\right) \Omega^{2}=0 . \tag{5}
\end{equation*}
$$

If $\lambda_{1 k}^{2}$ and $-\lambda_{2 k}^{2}$ are the roots of equation (5), then the solution of the equations (4) can be taken as

$$
\begin{equation*}
W_{k}(X)=G_{k}(X) D_{k}, \quad \psi_{k}(X)=S_{k}(X) D_{k}, \tag{6}
\end{equation*}
$$

where

$$
\begin{gathered}
D_{k}=\left[\begin{array}{llll}
d_{1 k} & d_{2 k} & d_{3 k} & d_{4 k}
\end{array}\right]^{\prime}, \quad G_{k}(X)=\left[\begin{array}{llll}
\cosh \lambda_{1 k} X & \sinh \lambda_{1 k} X & \cos \lambda_{2 k} X & \sin \lambda_{2 k} X
\end{array}\right], \\
S_{k}(X)=\left[\begin{array}{llll}
C_{1 k} \sinh \lambda_{1 k} X & C_{1 k} \cosh \lambda_{1 k} X & C_{2 k} \sin \lambda_{2 k} X & -C_{2 k} \cos \lambda_{2 k} X
\end{array}\right], \\
C_{1 k}=-\left[\begin{array}{lll}
L_{k} \lambda_{1 k}^{2}+\gamma_{k} & H_{k} \Omega^{2}
\end{array}\right] / L_{k} \lambda_{1 k}, \quad C_{2 k}=\left[\begin{array}{lll}
L_{k} \lambda_{2 k}^{2}-\gamma_{k} H_{k} \Omega^{2}
\end{array}\right] / L_{k} \lambda_{2 k} .
\end{gathered}
$$

$D_{k}$ is the vector of mode shape constants and the prime denotes the transpose of a matrix.

The continuity conditions between the line elements at $X=X_{k} ; k=1,2, \ldots, n-1$ can be taken as

$$
\begin{gather*}
W_{\iota}\left(X_{k}\right)=W_{k}\left(X_{k}\right), \quad \psi_{\iota}\left(X_{k}\right)=\psi_{k}\left(X_{k}\right), \quad I_{\iota} \psi_{\iota}, X\left(X_{k}\right)=I_{k} \psi_{k, X}\left(X_{k}\right), \\
L_{t}\left\{W_{\iota}, x\left(X_{k}\right)+\psi_{\iota}\left(X_{k}\right)\right\}=L_{k}\left\{W_{k}, x\left(X_{k}\right)+\psi_{k}\left(X_{k}\right)\right\}, \tag{7}
\end{gather*}
$$

where $\ell=k+1$.
From equations (6) and (7) one gets

$$
\begin{equation*}
D_{\ell}=A^{(\imath)} D_{k}, \quad A^{(\imath)}=A_{\ell}^{-1}\left(X_{k}\right) A_{k}\left(X_{k}\right), \tag{8}
\end{equation*}
$$

where the matrices $A_{k}\left(X_{k}\right)$ and $A_{\ell}\left(X_{k}\right)$ are given by

$$
\begin{gather*}
A_{k}\left(X_{k}\right)=\left[\begin{array}{llll}
G_{k}\left(X_{k}\right) & S_{k}\left(X_{k}\right) & I_{k} S_{k}\left(X_{k}\right) & L_{k}\left\{G_{k, X}\left(X_{k}\right)+S_{k}\left(X_{k}\right)\right.
\end{array}\right]^{\prime}, \\
A_{\ell}\left(X_{k}\right)=\left[\begin{array}{llll}
G_{t}\left(X_{k}\right) & S_{\ell}\left(X_{k}\right) & I_{t} S_{t}\left(X_{k}\right) & L_{t}\left\{G_{\ell, X}\left(X_{k}\right)+S_{\ell}\left(X_{k}\right)\right\}
\end{array}\right]^{\prime} . \tag{9}
\end{gather*}
$$

From equation (8), one gets

$$
\begin{equation*}
D_{t}=B^{(\vartheta)} D_{1}, \quad B^{(\imath)}=A^{(\vartheta)} A^{(t-1)} \cdots A^{(2)}=\left[b_{q r}^{(\ell)}\right]_{4 \times 4} . \tag{10}
\end{equation*}
$$

In this way the $4 n$ constants arising in solutions (6) reduce to 4 . It can be seen that if the thicknesses, densities and elastic properties of the $n$ beam elements are taken as the same, the matrices $A^{(\vartheta)}$ and $B^{(\vartheta)}$ reduce to unit matrices and the whole problem reduces to that of a uniform beam.

### 3.2. EDGE CONDITIONS

The beam is taken to be clamped at both edges, for which the conditions are

$$
\begin{equation*}
W_{1}(0)=\psi_{1}(0)=W_{n}(1)=\psi_{n}(1)=0 . \tag{11}
\end{equation*}
$$

### 3.3. FREQUENCY EQUATION

Using relations (10) in solutions (6) and then putting them in conditions (11), we get

$$
\begin{gather*}
d_{11}+d_{31}=0, \quad C_{11} d_{21}-C_{21} d_{41}=0 \\
s_{11} d_{11}+s_{12} d_{21}+s_{13} d_{31}+s_{14} d_{41}=0, \quad s_{21} d_{11}+s_{22} d_{21}+s_{23} d_{31}+s_{24} d_{41}=0 \tag{12}
\end{gather*}
$$

where

$$
\begin{equation*}
s_{1 r}=G_{n}(1)\left[b_{q r}^{(n)}\right]_{4 \times 1}, \quad s_{2 r}=S_{n}(1)\left[b_{q r}^{(n)}\right]_{4 \times 1}, \quad r=1,2,3,4 . \tag{13}
\end{equation*}
$$

For a non-trivial solution of equations (12) the determinant of the coefficient matrix must vanish, which gives rise to the following transcendental frequency equation

$$
\begin{equation*}
\left(C_{11} s_{24}+C_{21} s_{22}\right)\left(s_{13}-s_{11}\right)+\left(C_{11} s_{14}+C_{21} s_{21}\right)\left(s_{21}-s_{23}\right)=0 \tag{14}
\end{equation*}
$$

The denumerable infinity of roots of this equation for given dimensions, densities and elastic constants of the beam elements are frequencies $\Omega_{j}$ of various normal modes of free vibration of the beam.

### 3.4. ORTHONORMALITY CONDITION

The orthogonality condition for normal modes of free vibration of the beam can be obtained as

$$
\begin{equation*}
\sum \gamma_{k} H_{k} \int_{x_{k-1}}^{x_{k}}\left[12 W_{k i} W_{k j}+H_{k}^{2} \psi_{k i} \psi_{k j}\right] \mathrm{d} X=12 \delta_{i j} \tag{15}
\end{equation*}
$$

where $\delta_{i j}$ is the Kronocker delta and summation over $k$ is taken from 1 to $n$.

### 3.5. MODE SHAPES

Since out of the four equations (12) only three are independent, one solves first three of them to get $D_{1}$ in terms of $d_{41}$. This is substituted in equations (10) to get $D_{2}$ and $D_{3}$ in terms of $d_{41}$. These are then substituted in solutions (6) to get the mode shapes as

$$
\begin{gather*}
W_{k}(X)=G_{k}(X)\left[\begin{array}{llll}
e_{1 k} & e_{2 k} & e_{3 k} & e_{4 k}
\end{array}\right]^{\prime} d_{41}, \quad \psi_{k}(X)=S_{k}(X)\left[\begin{array}{llll}
e_{1 k} & e_{2 k} & e_{3 k} & e_{4 k}
\end{array}\right]^{\prime} d_{41} \\
X_{k-1} \leqslant X \leqslant X_{k}, \quad k=1,2, \ldots, n \tag{16}
\end{gather*}
$$

where

$$
\begin{gather*}
d=\left(C_{21} s_{12}+C_{11} s_{14}\right) / C_{11}\left(s_{11}-s_{13}\right), \quad e_{11}=-d, \quad e_{21}=C_{21} / C_{11}, \quad e_{31}=d \\
e_{41}=1, \quad e_{q \ell}=d\left(b_{q 3}^{(\ell)}-b_{q 1}^{(\ell)}\right)+\left(C_{11} b_{q 4}^{(\ell)}+C_{21} b_{q 2}^{(\ell)}\right) / C_{11}, \quad q=1,2,3,4 \tag{17}
\end{gather*}
$$

To get $d_{41}$, normalization condition (15) is used to give

$$
\begin{equation*}
d_{41}^{2}=1 / \sum\left[F_{k}\left(X_{k}\right)-F_{k}\left(X_{k-1}\right)\right] \tag{18}
\end{equation*}
$$

where

$$
\begin{align*}
F_{k}(X)= & \gamma_{k} H_{k}\left[f_{1 k} X+f_{2 k} \sinh \left(2 \lambda_{1 k} X\right)+f_{3 k} \sin \left(2 \lambda_{2 k} X\right)\right. \\
& +f_{4 k} \cosh \left(2 \lambda_{1 k} X\right)+f_{5 k} \cos \left(2 \lambda_{2 k} X\right)+\jmath_{k}\left[\operatorname { c o s h } ( \lambda _ { 1 k } X ) \left\{f_{6 k} \sin \left(\lambda_{2 k} X\right)\right.\right. \\
& \left.\left.+f_{7 k} \cos \left(\lambda_{2 k} X\right)+\sinh \left(\lambda_{1 k} X\right)\left\{f_{8 k} \sin \left(\lambda_{2 k} X\right)+f_{9 k} \cos \left(\lambda_{2 k} X\right)\right\}\right]\right]  \tag{19}\\
& \jmath_{k}=2 /\left(\lambda_{1 k}^{2}+\lambda_{2 k}^{2}\right), \quad 2 \lambda_{1 k} f_{1 k}=h_{1 k}\left(e_{1 k}^{2}-e_{2 k}^{2}\right)+h_{2 k}\left(e_{3 k}^{2}+e_{4 k}^{2}\right),
\end{align*}
$$

$$
\begin{gather*}
4 \lambda_{1 k} f_{2 k}=h_{3 k}\left(e_{1 k}^{2}+e_{2 k}^{2}\right), \quad 4 \lambda_{2 k} f_{3 k}=h_{4 k}\left(e_{3 k}^{2}-e_{4 k}^{2}\right), \quad 2 \lambda_{1 k} f_{4 k}=h_{3 k} e_{1 k} e_{2 k}, \\
2 \lambda_{2 k} f_{5 k}=-h_{4 k} e_{3 k} e_{4 k}, \quad f_{6 k}=12 g_{1 k}+h_{5 k} g_{2 k}, \quad f_{7 k}=12 g_{3 k}-h_{5 k} g_{4 k}, \\
f_{8 k}=12 g_{4 k}+h_{5 k} g_{3 k}, \quad f_{9 k}=12 g_{2 k}-h_{5 k} g_{1 k}, \quad g_{1 k}=\lambda_{1 k} e_{2 k} e_{4 k}+\lambda_{2 k} e_{1 k} e_{3 k}, \\
g_{2 k}=\lambda_{1 k} e_{1 k} e_{3 k}-\lambda_{2 k} e_{2 k} e_{4 k}, \quad g_{3 k}=\lambda_{1 k} e_{2 k} e_{3 k}-\lambda_{2 k} e_{1 k} e_{4 k}, \\
g_{4 k}=\lambda_{1 k} e_{1 k} e_{4 k}+\lambda_{2 k} e_{2 k} e_{3 k}, \quad h_{1 k}=\left(12-H_{k}^{2} C_{1 k}^{2}\right), \quad h_{2 k}=\left(12+H_{k}^{2} C_{2 k}^{2}\right), \\
h_{3 k}=\left(12+H_{k}^{2} C_{1 k}^{2}\right), \quad h_{4 k}=\left(12-H_{k}^{2} C_{2 k}^{2}\right), \quad h_{5 k}=C_{1 k} C_{2 k} H_{k}^{2} . \tag{20}
\end{gather*}
$$

## 4. FORCED MOTION ANALYSIS

A solution of the forced motion equations (2) subjected to the continuity conditions (7) and edge conditions (11) is assumed to be

$$
\begin{gather*}
W_{k}(X, T)=\sum W_{k j}(X) g_{j}(T), \quad \psi_{k}(X, T)=\sum \psi_{k j}(X) g_{j}(T), \\
X_{k-1} \leqslant X \leqslant X_{k}, \quad k=1,2, \ldots, n \tag{21}
\end{gather*}
$$

where the summation over $j$ is from 1 to $\infty$. By substituting it in equations (2) and using equations (4), one gets

$$
\begin{equation*}
\sum \gamma_{k} H_{k} W_{k j}\left(g_{j}, T T+\Omega_{j}^{2} g_{j}\right)=P_{k}(X, T), \quad \sum\left(\gamma_{k} H_{k}^{3} / 12\right) \psi_{k j}\left(g_{j}, T T+\Omega_{j}^{2} g_{j}\right)=0 \tag{22}
\end{equation*}
$$

Using equations (22) and the orthonormality condition, one gets

$$
\begin{equation*}
g_{j}, T_{T}+\Omega_{j}^{2} g_{j}=G_{j}(T) \tag{23}
\end{equation*}
$$

where

$$
\begin{equation*}
G_{j}(T)=\sum \int_{x_{k-1}}^{x_{k}} P_{k} W_{k j} \mathrm{~d} X \tag{24}
\end{equation*}
$$

The solution of equation (23) is

$$
\begin{equation*}
\Omega_{j} g_{j}(T)=\Omega_{j} g_{j}(0) \cos \left(\Omega_{j} T\right)+g_{j},_{T}(0) \sin \left(\Omega_{j} T\right)+\int_{0}^{T} G_{j}(\tau) \sin \left\{\Omega_{j}(T-\tau)\right\} \mathrm{d} \tau \tag{25}
\end{equation*}
$$

where
$g_{j}(0)=\sum \gamma_{k} H_{k} \int_{x_{k-1}}^{x_{k}} W_{k}(X, 0) W_{k j} \mathrm{~d} X, \quad g_{j},_{T}(0)=\sum \gamma_{k} H_{k} \int_{x_{k-1}}^{x_{k}} W_{k},{ }_{T}(X, 0) W_{k j} \mathrm{~d} X$.
If the initial conditions are taken as

$$
W_{k}(X, 0)=W_{k}, T(X, 0)=0
$$

then

$$
\begin{equation*}
g_{j}(0)=g_{j, T}(0)=0 \tag{27}
\end{equation*}
$$

4.1. LOADING CONDITION

The following two types of external loads uniformly distributed over a portion of each beam element are taken:

### 4.1.1. Constant load (CL)

$$
\begin{gather*}
P_{k}(X, T)=P_{0}\left[U\left(X-\xi_{k}\right)-U\left(X-\eta_{k}\right)\right] U(T) / \sum\left(\eta_{k}-\xi_{k}\right) \\
X_{k-1} \leqslant \xi_{k}<\eta_{k} \leqslant X_{k}, \quad k=1,2, \ldots, n \tag{28}
\end{gather*}
$$

where $P_{0}$ is the total load on the beam.
$G_{j}(T)$, evaluated after substituting from equations (16) and (28) in equation (24), is substituted in equation (25) and the condition (27) is used, to get

$$
\begin{equation*}
g_{j}(T)=P_{j}\left[1-\cos \left(\Omega_{j} T\right)\right] / \Omega_{j}^{2}, \tag{29}
\end{equation*}
$$



Figure 2. $W_{0}$ versus $T$ for CL for various values of $\beta_{2}$ and $\alpha_{2} ;-$, shear theory; ------, classical theory; (a) $\alpha_{2}=1 \cdot 3, \delta_{2}=\varepsilon_{2}=1 \cdot 0 ; O, \beta_{2}=0 \cdot 4 ; \star, \beta_{2}=1 \cdot 6$. (b) $\alpha_{2}=0 \cdot 7 ; \delta_{2}=\varepsilon_{2}=1 \cdot 0 ; O, \beta_{2}=0 \cdot 4 ; \star, \beta_{2}=1 \cdot 6$. (c) $\beta_{2}=1 \cdot 3$, $\delta_{2}=\varepsilon_{2}=1 \cdot 0 ; O, \alpha_{2}=0 \cdot 4 ; \star, \alpha_{2}=1 \cdot 6$. (d) $\beta_{2}=0 \cdot 7, \delta_{2}=\varepsilon_{2}=1 \cdot 0 ; O, \alpha_{2}=0 \cdot 4 ; \alpha_{2}=1 \cdot 6$.
where

$$
\begin{align*}
P_{j} & =P_{0} \sum\left[\phi_{k j}\left(\eta_{k}\right)-\phi_{k j}\left(\xi_{k}\right)\right] / \sum\left(\eta_{k}-\xi_{k}\right), \\
\phi_{k j}(X)= & d_{41 j}\left[\left\{e_{1 k j} \sinh \left(\lambda_{1 k j} X\right)+e_{2 k j} \cosh \left(\lambda_{1 k j} X\right)\right\} / \lambda_{1 k j}\right. \\
& \left.+\left\{e_{3 k j} \sin \left(\lambda_{2 k j} X\right)-e_{4 k j} \cos \left(\lambda_{2 k j} X\right)\right\} / \lambda_{2 k j}\right] . \tag{30}
\end{align*}
$$

4.1.2. Half sine pulse load (HL)
$P_{k}(X, T)=P_{0}\left[U\left(X-\xi_{k}\right)-U\left(X-\eta_{k}\right)\right]\left\{1-U\left(T-t_{1}\right)\right\} \sin \left(\pi T / t_{1}\right) / \sum\left(\eta_{k}-\xi_{k}\right) ;$

$$
\begin{equation*}
X_{k-1} \leqslant \xi_{k}<\eta_{k} \leqslant X_{k}, \quad k=1,2, \ldots, n \tag{31}
\end{equation*}
$$

where $t_{1}$ is the duration of HL.


Figure 3. $W_{0}$ versus $T$ for CL for various values of $\delta_{2}$ and $\varepsilon_{2}$. Key as Figure 2 except (a), (b) $\bigcirc, \delta_{2}=0 \cdot 4$; $\star, \delta_{2}=1 \cdot 6$. (c), (d) $\bigcirc, \varepsilon_{2}=0 \cdot 4 ; \star, \varepsilon_{2}=1 \cdot 6$.


Figure 4. $W_{0}$ versus $T$ for HL for various values of $\beta_{2}$ and $\alpha_{2}$. Key as Figure 2.
By proceeding as above, one gets
$g_{j}(T)=\left\{\begin{array}{ll}P_{j} t_{1}\left[\pi \sin \left(\Omega_{j} T\right)-\Omega_{j} t_{1} \sin \left(\pi T / t_{1}\right)\right] /\left[\Omega_{j}\left(\pi^{2}-\Omega_{j}^{2} t_{1}^{2}\right)\right], & \text { when } \quad T<t_{1} \\ 2 P_{j} \pi t_{1}\left[\sin \left\{\Omega_{j}\left(T-t_{1} / 2\right)\right\} \cos \left(\Omega_{j} t_{1} / 2\right)\right] /\left[\Omega_{j}\left(\pi^{2}-\Omega_{j}^{2} t_{1}^{2}\right)\right], & \text { when } \quad T \geqslant t_{1}\end{array}\right\}$.

The substitution of unique mode shapes $W_{k j}$ given by equations (16) and (18) and $g_{j}(T)$ from equation (29) or (32) as the case may be, gives the transverse deflection $W_{k}(X, T)$ for forced motion.

## 5. RESULTS AND DISCUSSION

The variations in lengths, thicknesses and densities of different beam elements are taken in such a way that the total length, average thickness and average density of the beam remain constant, thus

$$
\begin{equation*}
\alpha_{k}=a_{k} / a_{1}, \quad \beta_{k}=h_{k} / h_{1}, \quad \delta_{k}=\rho_{k} / \rho_{1} \tag{34}
\end{equation*}
$$

Now $\sum a_{k}=a$ or $a_{1} \sum \alpha_{k}=a$ or $X_{1}=1 / \sum \alpha_{k}$ and $X_{k}=X_{1} \sum_{i=1}^{k} \alpha_{i} ; \sum a_{k} h_{k}=a h_{a}$ or $a_{1} h_{1} \sum \alpha_{k} \beta_{k}=a h_{a}$ or $H_{1}=H_{a} /\left(X_{1} \Sigma \alpha_{k} \beta_{k}\right)$ and $H_{k}=H_{1} \beta_{k}$, where $h_{a}$ is the average thickness of the beam and $H_{a}=h_{a} / a ; \sum a_{k} h_{k} \rho_{k}=a h_{a} \rho_{a}$ or $\gamma_{1}=H_{a} /\left(X_{1} H_{1} \sum \alpha_{k} H_{k} \delta_{k}\right)$ and $\gamma_{k}=\gamma_{1} \delta_{k}$.


Figure 5. $W_{0}$ versus $T$ for HL for various values of $\delta_{2}$ and $\varepsilon_{2}$. Key as Figure 3.
Numerical results are computed for the transverse deflection parameter $W_{0}$ $=\left(W_{k} / P_{0}\right)_{x=0.5}$ for a beam made up of three beam elements whose first and third elements are identical i.e., for $\alpha_{3}=\beta_{3}=\delta_{3}=\varepsilon_{3}=1$, by taking $v_{1}=v_{2}=v_{3}=0.3$ and $H_{a}=0 \cdot 1$.

The frequencies $\Omega_{j}$ are computed by the bisection method up to an accuracy of five decimal places and the series of $W_{k}$ (equation (21)) is summed to the first ten terms which gives an accuracy of four decimal places.
The graphs of $W_{0}$ versus $T$ for CL and HL for various values of $\beta_{2}, \alpha_{2}, \delta_{2}$ and $\varepsilon_{2}$ are plotted in Figures $2-5$ for shear theory as well as for classical theory. It can be seen in all cases, that the magnitude of $W_{0}$ at the first peak and the time of attaining the first peak is higher in shear theory.

## ACKNOWLEDGMENT

The second author is grateful to the Council of Scientific and Industrial Research (C.S.I.R.), India for providing financial assistance.

## REFERENCES

1. N. J. Taleb and E. W. Suppiger 1961 Journal of the Aerospaces Sciences 28, 295-298. Vibration of stepped beams.
2. M. Blumenfeld 1972 Zeitschrift für Anguewandte Mathematik 52, T32-T34. The computation of the natural frequencies of the beams with stepwise variable cross-sections using the method of the three unknowns.
3. I. Chopra 1974 International Journal of Mechanical Sciences 16, 337-344. Vibration of stepped thickness plates.
4. M. Levinson 1976 Journal of Sound and Vibration 49, 287-291. Vibration of stepped strings and beams.
5. P. A. A. Laura and C. Filipich 1977 Journal of Sound and Vibration 50, 157-158. Fundamental frequency of vibration of stepped thickness plates.
6. H. Sato 1980 Journal of Sound and Vibration 72, 415-422. Non-linear free vibrations of stepped thickness beams.
7. T. S. Balasubramanian and G. Subramanian 1985 Journal of Sound and Vibration 99, 563-567. On the performance of a four-degree-of-freedom per node element for stepped beam analysis and higher frequency estimation.
8. O. Bernasconi 1986 International Journal of Mechanical Sciences 28, 31-39. Solution for torsional vibrations of stepped shafts using singularity function.
9. G. Subramanian and T. S. Balasubramanian 1987 Journal of Sound and Vibration 118, 555-560. Beneficial effects of steps on the free vibration characteristics of beams.
10. S. K. Jang and C. W. Bert 1989 Journal of Sound and Vibration 130, 342-346. Free vibration of stepped beams: exact and numerical solutions.
11. S. K. Jang and C. W. Bert 1989 Journal of Sound and Vibration 132, 164-168. Free vibration of stepped beams: higher mode frequencies and effects of steps on frequency.
12. T. S. Balasubramanian, G. Subramanian and T. S. Ramani 1990 Journal of Sound and Vibration 137, 353-356. Significance and use of a very high order derivative as nodal degrees of freedom in stepped beam vibration analysis.
13. M. J. Maurizi and P. M. Belles 1993 Journal of Sound and Vibration 163, 188-191. Free vibration of stepped beams elastically restrained against translation and rotation at one end.
14. C. P. Filipich, P. A. A. Laura, M. Sonemblum and E. Gil 1988 Journal of Sound and Vibration 126, 1-8. Transverse vibrations of a stepped beam subject to an axial force and embedded in an non-homogeneous Winkler foundation.
15. C. N. Bepat and N. Bhutani 1994 Journal of Sound and Vibration 172, 1-22. General approach for free and forced vibration of stepped systems governed by the one dimensional wave equation with non-classical boundary conditions.
16. A. P. Gupta and N. Sharma 1997 Journal of Sound and Vibration 203, 697-705. Forced motion of a stepped semi-infinite plate.
17. H. Reismann 1968 Journal of Applied Mechanics 35, 501-515. Forced motion of elastic plates.
